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Etwas bewegt

16 Der Wanderer an den Mond
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 
du mild
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
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Un- ter- schied

 
wohl sein?

       
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

  
  

  
           

  
 


  

           
  
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




wand- re fremd

 
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 
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 
so hei-

  
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 
so un-

 
be- kannt;

       
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

  
  

  
  

  
  
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  
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                        
     

  
  

  
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




-auf, berg- ab,

 
wald- ein,

 
wald- aus,

   
doch bin


ich nir-

 
gend, ach!

 
zu_ Haus.

       
Du



  
  

  
  

  
  

  
  

  
         

 
  

  
  

  
  

  
  

 

  

         
 

  
  

  
  

  
  

  
  

  
  

        
arco  

                            
     

  
  

  
  
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


a- ber wan-

 
derst auf

 
und ab

 
aus We-

  
stens Wieg'_

 
in_ O-

   
stens Grab,

  
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  

  
  
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  
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

   
wallst län-


der- ein

 
und län-

 
der- aus,

 
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 
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  

  
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  


   
 

 

 
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  

  

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                
    
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bist doch, wo

 
du bist,

  
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       
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


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 
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 
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 

 


  

  arco

               

                   pizz.

     
               
     

   
      

55

Bar.

Vln. 1

Vln. 2

Vla.

Vc.

Cb.






glück- lich, wer,

 
wo- hin

 
er_ geht,

  
doch auf

  
der Hei-

 
mat Bo-

 
den_ steht,

   

                
                                

  
  

  
  

  
  

  
  



                
 

  
      

  
     

59

Bar.

Vln. 1

Vln. 2

Vla.

Vc.

Cb.






auf der Hei-

 
mat Bo-

  
den steht.

      


f

      
p

              


f
            p                                


f
       p

 
  

  
  

  
  


  


f
      

p
              


f

      
p


  

      
  

    

4


